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                                      Roll No. ………………………….      

 
    B.Com. (Bachelor of commerce) Old Course 

Third Year, Examination – 2012  
ECO-13  

Business Environment 

�यावसा�यक पया	वरण 

Time: 3 Hours           Maximum Marks: 35 

 
Note: This paper is of Thirty Five (35) marks divided into three (03) 
sections. Learners are required to attempt the questions contained in 
these sections according to the detailed instructions given therein. 

नोट: यह ��न प� प�तीस (35) अंक� का है जो तीन (03) खडं� म� �वभािजत है | 

�श�ा�थ�य� को  इन खंड� म� !दए गए �व%ततृ 'नद(श� के अनुसार ह, ��न� का 

चयन करना है | 

                                         SECTION – A /  भाग- क 

                        (Long-answer - type questions) / (द�घ� उ�तर�य ��न)  

Note: Section ‘A’ contains four (04) long-answer-type questions of 
Ten (10) marks each. Learners are required to answer two (02) 
questions only.                  (2×10 =20) 
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 नोट :भाग 'क' म� चार (04) nh?kZ mRrjh; iz”u  �दये गये है  �	येक ��न के 
लए दस (10) 
अंक �नधा��रत है, 
श�ा�थ�य� को इनम� से केवल दो ��न� के उ	तर देने है। 

1. Define economic development. In what respect it is different from 
economic growth? Point out the primary goal and sub goals of economic 
development. 

vkfFkZd fodkl dks ifjHkkf’kr dhft,A vkfFkZd lao`f) ls ;g fdl lanHkZ esa fHkUu gS\ 

vkfFkZd fodkl ds izkFkfed y{; ,oa miy{;ksa dks bafxr dhft,A 

2. Give the major achievements of the Indian economy as a consequence of 
privatisation, liberalisation and globalisation. 

mnkjhdj.k] futhdj.k ,oa HkweaMyhdj.k ds ifj.kkeLo:i Hkkjrh; vFkZO;oLFkk dh 

egRoiw.kZ miyfC/k;ka crkb;sA 

3. Explain the concept of bilateral trade relations. Distinguish between 
bilateral trade relations and multilateral trade relations. 

f}i{kh; O;kikj laca/kksa dh vo/kkj.kk dks le>kb;sA f}i{kh; O;kikj laca/kksa ,oa cgqi{kh; 

O;kikj laca/kksa ds e/; vUrj dhft,A 

4. Define a small scale unit. What are major problems being faced by the 

small scale industry. Explain the significance and growth of small scale 

sector in India. 

y?kq bdkbZ dks ifjHkkf’kr dhft,A y?kq m|ksxksa ds lEeq[k dkSu lh izeq[k leL;k,a gS\ 

Hkkjr esa y?kq m|ksxksa ds egRo ,oa fodkl dk o.kZu dhft,A 
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                                                         SECTION – B/ भाग ख 

Note: Section ‘B’ contains eight (08) short- answer type questions of 2 
1/2 marks each. Learners are required to answer four (04) questions 
only. Answers of these questions must be restricted to two hundred 
fifty (250) words approximately.                                                                                            
(4×2 ½ =10) 

नोट :भाग 'ख ' म� आठ (08) लघ ुmRrjh; iz”u  �दये गये है  �	येक ��न के 
लए 2 1/2
 अंक 

�नधा��रत है, 
श�ा�थ�य� को इनम� से केवल चार ��न� के उ	तर देने है। �	येक ��न का उ	तर दो सो 

पचास (250) श द� से अ�धक नह# होना चा�हए। 

Briefly discuss any four (04) of the following; 

 'न-न म� से �क�ह�ं चार (04) �	न� के उ
तर देने है।                  

1. Explain the objectives of fiscal policy. 

jktdks’kh; uhfr ds mn~ns”; crkb;sA 

2. Discuss the nature of social responsibilities of business. 

O;kikj ds lkekftd mRrjnkf;Ro dh izd`fr ij ppkZ dhft,A 

3. Define the term ‘balance of payments’ and explain its significance. 

Hkqxrku &larqyu dks ifjHkkf’kr dhft, ,oa bldk egRo crkb;sA 

4. Point out the advantages and disadvantages of free &trade. 

eqDr O;kikj ds ykHkksa ,oa gkfu;ksa dks bafxr dhft,A 
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5. Examine the basic rights of a consumer under the Consumer Protection 
Act, 1986. 

miHkksDrk laj{k.k vf/kfu;e]1986 ds vUrxZr miHkksDrk ds ewy vf/kdkjksa dk ijh{k.k 

dhft,A 

6. Discuss briefly the nature of industrial sickness with particular reference 
to notional sickness and actual sickness. 

vkS|ksfxd :X.krk dh izd`fr dh fo”ks’k :i ls lS)kafrd :X.krk ,oa okLrfod :X.krk ds 

lanHkZ esa ppkZ dhft,A 

7. What is inflation? What are the causes of inflation and rising prices in 

India? 

eqnzk LQhfr D;k gS\ Hkkjr esa eqnzk LQhfr ,oa c<+rs ewY; ds D;k dkj.k gS\ 

8.   “Foreign Capital is dangerous and it should not be allowed” Do you 

agree with this statement? If not, why?       

 **fons”kh eqnzk [krjukd gS vkSj vuqeU; ugha gksuh pkfg,A** D;k vki bl dFku ls 

lger gS\ ;fn ugha] rks D;ksa\                                                                                                                                                

                                                      SECTION – C/ खडं ग 

(Objective – type questions) / व�तु�न�ठ ��न 

Note: Section ‘C’ contains ten (10) objective –type questions of 1/2 
mark each. All the questions of this section are compulsory.                                    
(10× ½ =05) 
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नोट :भाग 'ग' म� दस (10) व%तु'न.ठ iz”u  �दये गये है  �	येक ��न के 
लए 1/2 अंक 

�नधा��रत है | इस खंड के सभी ��न अ�नवाय� है | 

Indicate whether the following are true or false; 

इं�गत कर� 1क 'न-न�ल3खत सह, है या गलत |  

1. The question of sustainable development is the central issue in the context 
of environmental degradation.  

Okguh; fodkl dk iz”u i;kZoj.k {kj.k ds lanHkZ esa dsUnzh; eqn~nk gSA 

2. According to GATT, protection to domestic industries should be given on 
the basis of quantitative restrictions.  

xsV ds vuqlkj ?kjsyw m|ksxksa dk laj{k.k ifjek.kkRed izfrca/kksa ds vuqlkj gksuk pkfg,A 

3. Trade deficit may be reduced by an increase in imports.  

O;kikj ?kkVs dks vk;krksa esa o`f) djds ?kVk ldrs gSaA 

4. Cultural change in India has been caused by scientific and technological 
changes.  

Hkkjr esa lkaL—frd ifjorZu oSKkfud ,oa rduhdh ifjorZuksa ds dkj.k gq, gSA 

5. The import intensity of Indian Industry is rising under the pressure of 
global competition.  

oSf”od izfrLi)kZ ds nokc esa Hkkjrh; m|ksx dh vk;kr&rhozrk c<+ jgh gSA 

Indicate the correct answer-option; 
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उ5तर के �लए सह, �वक6प का चुनाव क8िजए ; 

6. Economic development of a country is expressed in terms of  

A. Only quantitative changes 

B. Only qualitative changes 

C. Both quantitative and qualitative changes 

D. None of the above 

vkfFkZd fodkl esa ,d ns”k dk ……….. O;Dr fd;k tkrk gSA 
A. ek= ifjek.kkRed ifjorZu 
B. ek= xq.kkREkd ifjorZu 
C. ifjek.kkRed ,oa xq.kkRed ifjorZu nksuksa 
D. mijksDr esa ls dksbZ ugha 

7. Micro environment consists of  

A. Suppliers 

B. Competitors 

C. Marketing 

D. All of the above 

O;f’V i;kZoj.k esa lfEefyr gS 

A. vkiwfrZdrk 
B. izfr;ksxh  
C. foi.kudrkZ  
D. mijksDr lHkh  
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8. Monetary policy aims at regulating 

A Money Supply 

B. Flow of Foreign Exchange 

C. Availability of credit 

D. All of the above 

ekSfnzd uhfr fu;eu dks yf{kr djrh gSA 

A eqnzk vkiwfrZ  

B. fons'kh eqnzk dk izokg 

C. lk[k dh miyC/krk  

D. mijksDr lHkh 

9. What are the factors which contribute to the Business success? 

A. Marketing resources 

B. Physical Assets 

C. Financial factors 

D. All of the above 

O;kikfjd lQyrk esa ;ksxnku nsus okys ?kVd dkSu ls gS\ 

A. foi.ku lalk/ku 

B. HkkSfrd lEifRr;k¡ 
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C. foRrh; ?kVd 
D. mijksDr lHkh 

10. In the initial years of planning, industrial development was largely based 
on;  

A. Export substitution 

B. Import substitution 

C. Transportation 

D. None of these 

fu;kstu ds izkjfEHkd pj.k esa vkS|kSfxd fodkl vk/kkfjr Fkk 

A. fu;kZr izfrLFkkiu 

B. vk;kr izfrLFkkiu  

C. ifjogu  

D. mijksDr esa ls dksbZ ugha  

 


